[bookmark: _Hlk176886699]2. Calculează, asezând numerele unul sub altul.

a. 826 – 517 		b. 639 – 276		c. 328 – 179		d. 300 – 129
    654 – 239		    514 – 215		    836 – 565		    801 – 536
    837 – 528		    725 – 572		    743 – 474 		    900 – 784 
    453 – 235 		    307 – 216 		    812 – 421  	  1 000 – 594
    
                               Rezolvare:

a. 826 – 517 = 309			826 –
    					517
    					309
Verificare: 309 + 517 = 826	309 + 
    					517
    					826
______________________________________

654 – 239 = 415			654 –
    					239
    					415
Verificare: 415 + 239 = 654	415 + 
    					239
    					654
______________________________________
837 – 528 = 309			837 –
    					528
    					309
Verificare: 309 + 528 = 837	309 + 
    					528
    					837
______________________________________
453 – 235 = 218			453
    					235
    					218
Verificare: 218 + 235 = 453	218 + 
    					235
    					453
b. 639 – 276 = 363			639 –
    					276
    					363
Verificare: 363 + 276 = 639	363 + 
    					276
    					639
_____________________________________

514 – 215 = 299			514 –
    					215
    					299
Verificare: 299 + 215 = 514	299 + 
    					215
    					514
______________________________________

725 – 572 = 153			725 –
    					572
    					153
Verificare: 153 + 572 = 725	153 + 
    					572
    					725
_______________________________________

307 – 216 = 91			307 –
    					216
    					=91
Verificare: 91 + 216 = 307		  91 + 
    					216
    					307
________________________________________

c. 328 – 179 = 149			328 –
    					179
    					149
Verificare: 149 + 179 = 328	149 + 
    					179
    					328
_________________________________________



836 – 565 = 271			836 –
    					565
    					271
Verificare: 271 + 565 = 836	271 + 
    					565
    					836
____________________________________________

743 – 474 = 269			743 –
    					474
    					269
Verificare: 269 + 474 = 743	269 + 
    					474
    					743
____________________________________________

812 – 421 = 391			812 –
    					421
    					391
Verificare: 391 + 421 = 812	391 + 
    					421
    					812
_____________________________________________

d. 300 – 129 = 171			300 –
    					129
    					171
Verificare: 171 + 129 = 300	171 + 
    					129
    					300
______________________________________________

801 – 536 = 265			801 –
    					536
    					265
Verificare: 265 + 536 = 801	265 + 
    					536
    					801



900 – 784 = 116			900 –
    					784
    					116
Verificare: 116 + 784 = 900	116 + 
    					784
    					900
_____________________________________________

1 000 – 594 = 406		        1 000 –
    				           594
    				         =406
Verificare: 406 + 594 = 1 000	406 + 
    				           594
    				        1 000
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